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compiler/src/DictPass.hs

@@ -50,9 +50,10 @@ tcBind (Rec bs) ce maybest = tbloop st0 bs []
pss’ = tcPss st
st’ = st{tcPss=(pss++pss’)}
(e’, st’’) = runState (tcExpr e qt) st’



HHE lib/Prelude.hs  samplel152.hs

EIERT  5.430s (100%)  29.424s (100%)

B 1.263s (430%)  6.282s (468%)

num = tcNum st’’
in
if null gs then ((v, e’), st’’{tcPss=pss’})
else ((v, Lam (mkVs n gs) e’), st’’{tcPss=pss’})
if null gs then ((v, e’), st{tcNum=num})
else ((v, Lam (wkVs n gs) e’), st{tcNum=num})

tcbind _ _ = error "tcbind: must not occur."
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